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Puzzle 1 (Medium, difficulty ratin

g

| |
m|o|—|o|xfwlo|s(-] _|o|x| o] —]o|w|o] Bl |<|o|~||o]w|m|o]  B]m|o|o]o|<|—]|wo|~|~
N o o
o|w|als|o|~—|o[m]  Sl—|~|o|o|o|w|o|<|a]  Ba|m|wlo|of—|o|~[s]  Po|w|~|o|m|a]—|<|o
: £ =
~[<t|oo|—|©o|m|w|o|a]  Slau|o|w]st{m]|o]o|—[—] Slo|o|~|o|w|s|o|c|l S| ||| w]o|m|w©
: 3 3
o|—|w|o|~|o]nfm|<| S <|o||w|o|of—|m|~]  Fo[—|—]|wo|<|w]o|a|a]  Flw|~|wo] || [—|m
aife|@|olo|s=[—(o]  Zl—|m|ool—lalsto|w]  Blo|o| ||| ml—|wlo]  Tlst|m| =] {o]olw|o
© £ IS
©o[~[<t|m[—|afo|o|o]  Jw|of—|m|<|~|o|n|o]  S|w|o|n|—(o|of=|<|m]  S|o|~|o]w|—|m|a|o| <
e e]
(7]
p2 5] 5]
<[] —]oi~|of  wlofw|~|o|of o) < /M\4?_6_b1938_{ /M\765394821
N ™ <t
w|o|ol~|<|o|m|a|—]  olo|n|o]—|w|<|—|o|m] olo|—|o]<|m|—|ofio] ol ||| o]m|o|—
N N N
—|o|—|~|m|o]x|w|wo] S| —|s]i|olofo|o]  F|-{w|olo|o|clst (o] Flo|o|of ||| o|w




